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𝛼0 = 0.7184 ∗ 𝛼 𝑡𝑜𝑝 + 0.008

𝛼0 = 1.0283 ∗ 𝛼𝑎𝑙𝑏𝑒𝑑ô𝑚𝑒𝑡𝑟𝑜 + 0.0117 



660 
 



661 
 



662 
 

 
𝐸𝑇₀

=
[0.408 ∗ (𝑅𝑛 − 𝐺) + [𝑦 ∗ (

900
𝑇 + 273

) ∗  𝑢2 ∗ (𝑒𝑠 − 𝑒𝑎)] ]

∆ + 𝑦 ∗  (1 + 0.34 ∗  𝑢₂)
       (1)
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𝐿λ = (
LMAX−LMIN

255
) QCAL + LMIN

𝑃λ =
𝜋 ∗  𝐿λ

ESUNλ   
∗ cosZ ∗  E0

𝐸0 = 1.000110 +  0.0342221 cos(da) +
 0.001280 (da) +  0.000719(2 ∗ da) +
 0.000077 sin(2 ∗ da)

da = (𝑑𝑛 − 1)
2𝜋

365
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𝑡𝑜𝑝 =  (𝑝  𝑝)



 =
𝐸𝑆𝑈𝑁 

 𝐸𝑆𝑈𝑁

𝛼0  =  𝑎 ∗  𝛼 𝑡𝑜𝑝 +  𝑏 

𝑇𝑜 = 1.11 𝑥 𝑇𝑏𝑟𝑖𝑔ℎ𝑡 − 31.89

𝑇𝑏𝑟𝑖𝑔ℎ𝑡 =
1260.56

ln (
607.76

Ltermal + 1
)

𝑁𝐷𝑉𝐼 =
𝐼𝑉𝑃 − 𝑉

𝐼𝑉𝑃 + 𝑉

𝐸𝑇

𝐸𝑇𝑂
= exp [𝑎 + 𝑏( 𝑇𝑜

∞∗ NDVI
)]

𝑘𝑐 =  
𝐸𝑇𝑎

𝐸𝑇𝑜

𝛼0 = 0.24 ∗ 𝐵𝑙𝑢𝑒 + 0.23 ∗ 𝐺𝑟𝑒𝑒𝑛 + 0.2 ∗ 𝑅𝑒𝑑 +
0.14 ∗ 𝑁𝐼𝑅 + 0.18 ∗ 𝑅𝑒𝑑𝐸𝑑𝑔𝑒

http://lattes.cnpq.br/3418524049655817
http://lattes.cnpq.br/1054839770814863
http://lattes.cnpq.br/5171893735359718
https://www.alice.cnptia.embrapa.br/alice/browse?type=author&value=COELHO%2C+E.+F.
https://www.alice.cnptia.embrapa.br/alice/browse?type=author&value=OLIVEIRA%2C+G.+X.+S.
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